
Adding and subtracting up to 1000 without carrying (H - set 5)
ADDING AND SUBTRACTING UP TO 1000

Name:

Time: Score: /

121) 856− 540 = 131) 6 + 922 =

122) 856− 534 = 132) 938− 807 =

123) 840 + 4 = 133) 407− 204 =

124) 276− 250 = 134) 935− 334 =

125) 689− 404 = 135) 792− 302 =

126) 474 + 215 = 136) 224 + 73 =

127) 977− 555 = 137) 329 + 360 =

128) 353 + 521 = 138) 271 + 721 =

129) 324 + 62 = 139) 584− 282 =

130) 998− 408 = 140) 287− 45 =

Mathematics: Mixed - Level 5 - Horizontal - Set 5 8 © workulum.com

https://www.workulum.com

